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Question 1.Select the related word/letters/numbers from the given alternatives:

& T faepeal § O Hafd 2/ 78R/ &l giAv|
Pesticide : Plant :: 2 : ?_

WPleATers ; O :: ?:?
Options:

1) Medicine : Cure
ASfE : 3TER

2) Injection : Fever
SR & SR

3) Vaccination : Baby
eprasor : falgf

4) Sinarest : Cold
SRS AL
Correct Answer: Vaccination : Baby

epramor ; farg

Candidate Answer: Vaccination : Baby

Sepraot ; farg

Question 2.Select the related word/letters/numbers from the given alternatives:

& T et # O Hafd eres/37eR)/dwan &l gAv|
Select the related letter/word/number from the given alternatives.

39 77 ¥ QU MU fawmeul ¥ & Taf2id 2rea/31eR)/dwa ol gl
ZXVT : ACEG :: SQOM :?

Options:

1) FHIL

2) HILN

3) JLMO

4) IKMO
Correct Answer: HILN
Candidate Answer: HILN

Question 3.Select the related word/letters/numbers from the given alternatives:

& T faepedl § I Faf0d 2/ 318Rl/dw@aT @1 ATl
Select the related letters/words/numbers from the given alternatives.

39 7o H 13U 7Y faspeul ¥ & HfRid 2rea/378R)/Hw Bl gAY
4:12::5:?

Options:

1) 25

2) 20

3)22

4) 30
Correct Answer: 20
Candidate Answer: 20

= = Staff Selection Commission
ssn (Government Of India)

Challenges

EXAM START TIME : 13:
15:00
EXAM DURATION : 01:15 Hrs
TOTAL NO OF QUESTIONS : 100


http://thepracticetest.in/challengesystem/logout.php?appid=1a4fff78943b24af40c79deccf09bb87
http://spscregistration.nic.in/sicpochallenge16/sendrollno.jsp?rollno=2201028032

Question 4.

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

39 WeT # 3y TV et # F e 2real/srer/dwansii &1 gig|

Options:
1) Red
ofTet

2) Brown

kS

3) Green
54

4) Yellow
Yrer

Correct Answer: Brown
kS
Candidate Answer: [ NOT ANSWERED ]

Question 5.

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

39 77 ¥ QU MY fasmenl # & fawm ereal/srar/wwansii & gfv)

Options:
1) FIHG

2) CGEF
3) JMLK

4) VYXW
Correct Answer: CGEF
Candidate Answer: CGEF

Question 6.

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

39 77 ® fau MY fasmenl # & fawm ereal/srar/wwansi & gl

Options:
1)1, 0.75, 0.5, 1.25

2)4,3,2,5
3)1,4,2,8

4)2,15,1,25
Correct Answer: 1,4, 2,8
Candidate Answer: 1, 4, 2, 8

Question 7.Arrange the following words as per order in the dictionary.
fAfAfAfET 2real @1 2reaaprer # Gy 7T %A & 317AR |

1. NEST 2. NECK 3. NEAT 4. NEAR

Options:

1)4,2,3,1

2)4,2,1,3

3)4,3,2,1

4)4,2,3,1



Correct Answer: 4, 3,2, 1
Candidate Answer: 4, 3, 2, 1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
9 Uo7 # U e & S 2, o Ue ue qw 21 faT e et # & W e gAY S el 3 i |

deb, ijg, nol, 2_, xyz
Options:

1) stq

2) rsp

3) rsq

4) stp
Correct Answer: stq
Candidate Answer: stq

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

9 U7 # U e & TS 8, o U ue qw 21 QT e faement # & W@t G gAY S el S i |
5,10, 13, 26, 29, 58, 61, ?

Options:

1) 122

2) 125

3) 128

4) 64
Correct Answer: 122
Candidate Answer: 122

Question 10.A man is engaged for planting trees for 10 hours. He plants 10 trees in an hour. He takes rest for 30 minutes after every hour. How many trees does he
plant in 10 hours?

T MTHT BT U8 T & fAT 10 & U 10 | 98 U & § 10 U ovTdT € 3R U €9 & a1g 30 fiFe 3R aT €1 397 10 8 N fFaw 9g @ ?

Options:

1) 100

2) 50

3)70

4) 45
Correct Answer: 70
Candidate Answer: [ NOT ANSWERED ]

Question 11.Golu is son of Bhola. Sheetal is daughter of Golu. Chitra is daughter of Dilip and Dilip is brother of Bhola. How is Chitra related to Sheetal?

T, WY T OF B1 offae , e &1 T 71 o, ity o1 Ot 2 3R iy, Wier &t Wi &1 fom &7 2ftaet & o Wy 82
Options:

1) Sister

CEl

2) Mother
AT

3) Aunt

g3

4) Mother in law
Ik

Correct Answer: Aunt

RE

Candidate Answer: Aunt

REl

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
fafafed faeed & 3 a8 2rea g st &g 7 216z & 318RT T TN &ech 78] STaT ST FehaT |
PHOTOSYNTHETIC

Options:

1) THOSE

2) SCENT

3) PRONE

4) COTTON



Correct Answer: PRONE
Candidate Answer: PRONE

Question 13.If in a code language 3456 = ROPE and 15526 = APPLE then 54613 = ?

TS At e TS § 3456 = ROPE € 3iR 15526 = APPLE %, a1 54613 = ?

Options:
1) RPPEO

2) ROPEA
3) POEAR

4) PAREO
Correct Answer: POEAR
Candidate Answer: POEAR

Question 14.If '+' means 'x' , '-' means '+', X' means '-' and '+' means '+', then what will be the value of 16 -+ 4x10-5+ 8 =?

IR '+ M X BT, - YIRS E, X A IMRT - A, 3R A3 '+ E), AT 16 + 4 x 10 - 5 + 8 = ? BT HH &T &Y

Options:
1) 12

2)8
3)4

4)2
Correct Answer: 4
Candidate Answer: 4

Question 15.Some equations are solved on the basis of certain system. Find the correct answer for the unsolved equation on that basis.
5x4x3=70,

6x5x4 =140

7x6x5="7?

A& THiHT T 3 JoTiel) & 3R R &t fy T #1330 3muR W 3gaRa THieor BT g 3R A1 Hifegl
afi5x4x3=70,

6x5x4 =140 g ar

7X6x5=7

Options:

1) 210

2) 220

3) 230

4) 240
Correct Answer: 240
Candidate Answer: 240

Question 16.Select the missing numbers from the given alternatives

Rm 7Y faedt § § g Twa A Hfe ?

| 8 | 13 | 7270117

'21 7 ;189i 63
4|6 }'36__r?—_

Options:
1) 65

2) 54
3)72

4) 110
Correct Answer: 54
Candidate Answer: 54



Question 17.Deepu started his journey from A and moves 2 km towards South, then he turns right and moves 2 kilometre. Again he takes a right turn and walks 2
km. Now he takes a left turn and walks 3 km more. How far he is from the starting point?

QT 37O AT A I 3R B, 3R T8 SfEroT Bl 3R 2 fb AL Tem o a8 afed g8 @ 1/2 fob AL I degedna a8 g afed g8 & 2 b =@ | O a8 ar g8 o 3 fe
3R eI g8 39 fog F fobaaT @R 2, STel I 38 3791 AT 3Ry by &ff ?

Options:
1) 3.5 km
3.5 fas. At
2) 2.5 km
2.5 fb.At.
3) 7.5 km
7.5 {3,
4) 1.5 km
1.5 {1,

Correct Answer: 3.5 km
3.5 fo.H.

Candidate Answer: 2.5 km
2.5 fo. A

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All parrots are chicks.

2. All birds are chicks.

Conclusions: I. Some birds are parrots.

II. Some chicks are parrots.

fFrafafad wed ¥ ves a1 < gaaed &3 T 2, S 3mt & frssd/Amang, 1 3R 11 fere 7 €1 31m9e! fTaR &1 € {6 gaae I € 9 a8 amr=aa: o qeat I it wedta grar
B 3t fofa oA @ 136 Ry 0 gome § ¥ w-ar fAfedd U F TE fesd/Ar=ran fAsrer o g € ?
wed : it drd et €1 it ueht T €

75 : 1. T© vaft ard &1

II. $® g dia

Options:

1) Both conclusion I and conclusion II follow

faeee 1 33k 11 2 @8t &

2) None of the two conclusions follows

ST f=pet # F 1€t wd T8 )

3) Only conclusion I follows

e [ 98t 3|

4) Only conclusion II follows

e 11 @8l @

Correct Answer: Only conclusion II follows

fAsse 11 wel @
Candidate Answer: [ NOT ANSWERED ]

Question 19.How many triangles are there in the given figure?

& S 31l # foba fAepior 22

Options:
1) 12

2)8
3) 16

4) 10
Correct Answer: 16
Candidate Answer: 16



Question 20.The diagram below represents the students who study Physics, Chemistry and Mathematics. Study the diagram and identify the region which represents
students who study both Physics and Chemistry but not Mathematics. ?

I &g Mg 3 B 9 foemeff gerfy wy € &Y wifady |, T 3R fTa ed €13 BT 3regad B 3R g W §dT¢ St 37 fenferat B gerfdr g o Wifadht 3k g e, @AY
ved g g foTa 7 ved & ?

Ph?5|cf,/ 7\ A
\/ s}{\ /
\_&_/

=1 Mathematics

'Chté.'rrustr\nr

Options:
1)T+S+U+P

2)C
3)R+T+A+U+P+S

4HT
Correct Answer: T
Candidate Answer: T

Question 21.Which answer figure will complete the pattern in the question figure?

P T I MBI 92T (&b Yo &b g7 H ?

|




Options:

1)
2)

j I_.
3)
4)
Correct Answer:

i I_.
Candidate Answer:

Question 22.Select the answer figure in which the question figure is hidden.

f&w MU faeseat § & a8 IR 3Pl FA1q BIfSIg S weT smepfa fAfga & 2

IE




Options:
1)

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

T B § AT IR FIIST BT WIgH Pred T T & I I8 5 IR 3gpha Siar g &m 2

B




Options:
1)

Question 24.If a mirror is places on the line MN, then which of the answer figures is the right image of the given figure?

IfE e T Y MN Y& WR I@T ST Y & 7€ 3R 3Mpiad) ¥ I B W 31pha 7o 311epfa &1 e ufdfer gnft ?

M




Options:
1)

2)

3)

4)

=
X

B
pisid

Correct Answer:

>

Candidate Answer:

S

Question 25.In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 3 and that of
Matrix II are numbered from 5 to 8. A letter from these matrices can be represented first by its row and next by its column, e.g., E can be represented by 00,11, etc.,
and 'T' can be represented by 56, 86, etc. Similarly you have to identify the set for the word 'TOLD'

T 2 Had U USIT-UHE GRT &ATaT 7T B, S o fesea # & foseit vep W f3am mam 31 fawsedl # fag 10 e g 31eRT & & anf gy gerfy g €, o &6 e e o ar
37Tl # B 37TegE I P W 3R Uerdt T H@AT 0 F 3 37K 37egg 11 BT 5 I 8 < 1S B 57 TR I U 38R Pl Ugel 3FDb! Uekd! 3R q1a H KIRT HBAT GRT AT ST HepalT &1
3TER0T & AT 'E' T 00, 11 3MfE GRT SRATIT ST1 WeelT & 7T T BT 56, 86 3MMME GRT SRATAT ST WebelT 21 S A< & 37T9epT 1Y Y 21eg 'TOLD' & fig |fg &1 ugar 21

MATRIX | MATRIX ||

Y 2 |3 5|6|7|8
0 | ENCINO4R | 5(L[1 |D|T
1|0 ENBWT (|6(1 (L|T|D
2T |V E||l 2| BE]L (]
3|0|DE|O||8|T|L|D]|L



Options:
1) 67, 30, 55, 13

2) 76, 02, 13, 55
3) 76, 33, 55, 31

4) 85, 02, 23, 31
Correct Answer: 76, 33, 55, 31
Candidate Answer: 76, 33, 55, 31

Question 26."The General Equilibrium Analysis" was developed by

AT e faeamor e fawsfad fosar o ?

Options:
1) Marshall
Arefer

2) Ricardo

Repref

3) Walras

dTeiRY

4) Adam Smith

TeH f&y

Correct Answer: Walras
CIGES]

Candidate Answer: [ NOT ANSWERED ]

Question 27.Insider trading is related to

MTaRe 2R oy I=foa & ?

Options:

1) Trade sector
[EREE

2) Share market
R ifhe

3) Credit market
pfee ATfhe

4) Horse racing

Correct Answer: Share market

9RR Hifdhe

Candidate Answer: Horse racing

gedls

Question 28.The operational period of 12th Five Year Plan is

12t UeraSTg QST BT FBIddId T & ?

Options:
1) 2007-12

2) 2012-17
3) 2015-20

4) 2005-10
Correct Answer: 2012-17
Candidate Answer: 2012-17

Question 29.A Unitary form of government is that in which all the powers are concentrated in the hands of

BT TRBR H AT dTehd fohads g1l # gt & ?
Options:

1) Local government

R TWBR

2) Central government

PET TWBR

3) Provincial government

TR TRBR

4) Panchayats

Yermad

Correct Answer: Central government

PRI TRBR

Candidate Answer: Central government

PRI TWBR



Question 30.The school of Indian art which is also known as the Greco-Roman-Buddhist art is the school

HRATI FaT BT I P AT Tl & 51, "YPI-HA, dtg 377" &b A9 J WY ST STrar 82
Options:

1) Mauryan

Hrf

2) Shunga

gm

3) Gandhara

TURT

4) Gupta
T

Correct Answer: Gandhara
TURT

Candidate Answer: [ NOT ANSWERED ]

Question 31.Which of the following Pallava Kings assumed the title of "Vatapikonda" after defeating and slaying the great Chalukyan King Pulekesin II

fafafed § I -3 gowa IS 3 AT TATE ST GebfaT [T TRIfSid Y 3R 36T a4 ¥ "arefUapisr &1 fEam gifad foar ?

Options:

1) Narsingh Varman I

ENECELEE!

2) Mahendra Varman I

e au [

3) Parameshwar Varman I

TRALER o I

4) Nandi Varman

T g

Correct Answer: Narsingh Varman I
ENECELER!

Candidate Answer: [ NOT ANSWERED ]

Question 32.The land forms formed by wave erosion is

TT-TeTa A G AT T P FIT FEd @ ?
Options:

1) Spit

LG

2) Beach

Hg-dc

3) Cave

T

4) Barrier island

gy

Correct Answer: Cave
T

Candidate Answer: Beach

Hg-d<
Question 33.Which one among the following is not an electro-magnetic wave?

FfafEE ¥ & PH-a fRrgd-grbra aor 78 & 2
Options:

1) X-Ray

TR

2) R-Ray

IR

3) Cathode Ray

FaTgY

4) Infrared Ray

SIBRE I (3reRa febeor)

Correct Answer: Cathode Ray
FefTeY

Candidate Answer: Infrared Ray

IBRE 3 (31T fohor)

Question 34.Which one of the following is a good electrical conductor?

fAftafaa & & Bie-a1 3resT fagd-ares 3 ?



Options:
1) Graphite
PEaE

2) Diamond

3) Peat
Tte
4) Charcoal

ARSI BT BRI
Correct Answer: Graphite

PEIE

Candidate Answer: Graphite

Question 35.Growing agricultural crops between rows of planted trees is known as

Ui Pl BdRY P di § Bhel 3 BT T Bad & ?

Options:
1) Social forestry
IS aTfeh

2) Jhum

g1
3) Taungya system
AT JoTTet

4) Agro forestry

Correct Answer: Taungya system
drmar woTert
Candidate Answer: Taungya system

drrT yoTet
Question 36.The Union Government on 22 May 2016 appointed whom as the new Lieutenant Governor of the Union Territory (UT) of Pondicherry

22 7€ 2016 BT T IREBR 3 {5 rfoeadt Ie 52 & o1 IJsaTe e s ?
Options:

1) Kiran Bedi

fopea ot

2) Kalyan Singh
FeT g

3) Ram Naik

NLEIERS

4) Mukul Sangma

JpeT JTHT

Correct Answer: Kiran Bedi

forT 38

Candidate Answer: Kiran Bedi

forT 38

Question 37.Sending a frame to a group of stations is known as

T[T &b YU Y A VST Bl 9T P 8 ?

Options:
1) Single casting
et wrfeT

2) Spreading
e

3) Multicasting
ARG

4) Casting
FIfET

Correct Answer: Multicasting

A BT

Candidate Answer: Multicasting

Aol Bl

Question 38.Prince of Wales Cup is associated with

199 3776 9 ' Y b WeT & FraIf2d & ?



Options:
1) Rugby
Tt

2) Golf
Meh

3) Polo
qrar

4) Chess
ST

Correct Answer: Golf
Blire)

Candidate Answer: [ NOT ANSWERED ]

Question 39.A drainage pattern where a river is joined by its tributaries approximately at right angles is

e e ufdam, forg  weraes et arad fid, a8 o1 dgamar 8 2

Options:
1) Dendritic
gHTRA®

S

2) Trellis

STt (TBT)

3) Rectangular

3TIAThPR

4) Radial

=g

Correct Answer: Trellis

STl (BHT)

Candidate Answer: [ NOT ANSWERED ]

Question 40.Who was the founder of the Indian Reform Association in 1870?

7 1870 # R GUR ' & RIS P & ?

Options:

1) Debendranath Tagore
a7 AT SR

2) Keshab Chandra Sen
PR T T

3) Rammohan Roy

I HIET I

4) Dayanand Saraswati
CUICEA

Correct Answer: Keshab Chandra Sen
PR T I

Candidate Answer: [ NOT ANSWERED ]

Question 41.Which Constitutional Amendment Act deals with the disqualification of MPs and MLAs?

PI-T T e rfofam W aew 3R faum ST Jel $1 3ramgdT 3 Jafod € ?
Options:

1) 42nd Amendment Act

429t e rfafiaw

2) 52nd Amendment Act

52qt Feier srfafam

3) 62nd Amendment Act

62ai TeuA fafiaw

4) 32nd Amendment Act

32qt deme rfafom

Correct Answer: 52nd Amendment Act
52qt Teme rfafam

Candidate Answer: [ NOT ANSWERED ]

Question 42.Which of the following increases the rate of heart beat?

T2l B USH B T FHefeied ¥ § e gedt 8 ?

Options:
1) Peripheral nerves

2) Sympathetic nerves
3) Parasympathetic nerves
4) Cranial nerves

PUTA dfApT

Correct Answer: Sympathetic nerves

IR dfeT



Candidate Answer: [ NOT ANSWERED ]

Question 43.The deficiency of Niacin-a vitamin of B complex group causes the disease

AT - S feeTA Si-sircian 0 1 e faerA &, Y st & Bi=-7 A7 erell & 2

Options:
1) Marasmus

IRIITT
2) Pellagra
Yorom

3) Rickets
e

4) Night-blindness
et

Correct Answer: Pellagra

Yomm

Candidate Answer: Pellagra

Yerm

Question 44.The core of the earth is also known as

Yot & BR (B W) BT 3R o A9 J STHT 1T § 2

Options:
1) Lithosphere
T Heel
2) Mesosphere
AARBIR

3) Barysphere

i
4) Centrosphere
IRARE B (FZEHRR )

Correct Answer: Barysphere
o
Candidate Answer: Mesosphere

AR

Question 45.Iron and manganese present as pollutants in water cannot be removed by

STl & Tue! & B § Hisig 7y 3R AT B s gRT T gerar o Wepar @ 2

Options:

1) oxidation followed by settling and filtration
fAeiees @Ry by T 3ffeRfteior I

2) chlorination

FARIATHOT

3) ion exchange process

3 fafwa wfeear

4) lime soda process or manganese zeolite process

T HreT wfdear a1 HrS

Correct Answer: chlorination

Candidate Answer: [ NOT ANSWERED ]

Question 46.A pair of contrasting characters controlling the same trait is called

R T7o7Y @1 g, S wAE fAdwarsit @Y FRifAd &, a1 BEarar & ?

Options:
1) factors
Yh

2) loci

sgfasaT

3) allele

grafdeed! (Vefte)

4) lineage

g JRUIT

Correct Answer: allele
grafdeedt (Valtd)

Candidate Answer: [ NOT ANSWERED ]

Question 47.The antiparticle of an electron is

ST BT TEI-UTfedel ol & ?



Options:

1) Positron
ST

2) Proton

oA

3) Alpha particles
UehT-uTfEdher

4) Beta particles
der-urima

Correct Answer: Positron

Candidate Answer: Proton
oA

Question 48.The polar regions are sparsely populated because of

Yfear & b1 JATere] febt BTl F foved & 2

Options:
1) lack of minerals
Gfot yeraf P wHt

2) unsuitable climatic conditions

UG STerarg Y e
3) infertile land

AT

4) mountainous topography

Correct Answer: unsuitable climatic conditions
IIUGRT STerary hr el
Candidate Answer: infertile land

AT fH

Question 49.Algal bloom results from

STt & BT BT T BRUT Brdl & ?

Options:
1) Global warming

Tt arfeT

2) Salination
SAgUTdr

3) Eutrophication

FUoT (G fUseper)

4) Biomagnification

S e (FrRN-AT e
Correct Answer: Eutrophication
JUTT (FgHfopeser)

Candidate Answer: [ NOT ANSWERED ]

Question 50.Which of the following pairing is incorrect

Fmfafed 3 F-a1 g |8 T8 € ?

Options:

1) Hygrometer - Water vapour content of the atmosphere
BETHICI- aIGHSH BT STerdTsq 372

2) Lactometer - Specific gravity of liquids

R TR B fafere o7

3) Anemometer - Speed of the wind

TREHR- arg & fd

4) Seismograph - Earthquakes

TRATTE - yu

Correct Answer: Lactometer - Specific gravity of liquids
RIHIeR- XA o fafere T

Candidate Answer: Lactometer - Specific gravity of liquids
IR &R o fafere T

Question 51.A can do a piece of work in 20 days and B in 15 days. With help of C, they finish the work in 5 days. C can alone do the work in

A T B BT 20 37 ¥ X FebaT € 3R B 15 T ® o Tepa1 & C B Weraar ¥ 9 5 37 ¥ 19 THTd oY oid &1 C 31T 39 BT B T 3 § v 2



Options:
1) 5 days
5 &

2) 6 days
6 faT

3) 10 days
10 f&

4) 12 days
12 f&

Correct Answer: 12 days

12fa

Candidate Answer: 12 days

12fa

Question 52.A spherical lead ball of radius 6 cm is melted and small lead balls of radius 3 mm are made. The total number of possible small lead balls is

6 I.71. =T aTell e et T B a1 bl e o 3 i, o arell BIe - BIEh WY & dict 918 ST &1 T &l BIE dicil bl TUTIId T =T gt ?
Options:
1) 4250
2) 4000
3) 8005

4) 8000
Correct Answer: 8000
Candidate Answer: [ NOT ANSWERED ]

Question 53.At what percentage above the cost price must an article be marked so as to gain 33% after allowing a customer a discount of 5%?

foelt o & BT o Q W febe Ufderd 3qehT 3ifdsd i &t STy b UTee PY 5% T Be 47 & UETd GbaR Bl 33% &I oM & 2

Options:

1) 40%

2) 45%

3) 35%

4) 47%

Correct Answer: 40%

Candidate Answer: [ NOT ANSWERED ]

Question 54.The four sides of a quadrilateral are in the ratio of 2:3:4:5 and its perimeter is 280m. The length of the longest side is

Tt SIS bl =R YT 2:3:4:5 & 3gaTd A 8 3R 3eh! GRfer 280 Wex &1 HeA Twll YT P IS qaTy ?

Options:
1) 100m
100 Hi&x
2) 150m
150 Hie&x

3) 175m
175 iz

4) 180m
180 Hex

Correct Answer: 100m
100 Hex

Candidate Answer: 100m
100 Hi&x

Question 55.Kamal has some apples. He sold 40% more than he ate. If he sold 70 apples, how many did he eat?

PBHA P I $B Jd 21 3G ST WY 397 40% 31f6 1 e 387 70 J9 9 o1 IaTg bl 397 fobe J @0 ?

Options:
1) 18

2) 42
3) 50

4) 90
Correct Answer: 50
Candidate Answer: 50

Question 56.A train 100 m long is running at a speed of 120 kms/hr. The time taken to pass a person standing near the line is

100 Hiex =it Teb Ieme! 120 fob. 7. /5 &Y TR q el TEE 21 I U &b UM WS U Afd] B IR IR § U AT I0a i ?



Options:
1) 1 second
1 J%vg

2) 3 seconds
3 qFUE

3) 5 seconds
5 JpUs
4) 7 seconds
7 JbUg

Correct Answer: 3 seconds
3 Jkvs

Candidate Answer: 3 seconds
3 Jdvs

Question 57.
2x

If x> + 5x + 6 = 0, then the value of e ete is

AR A2+ 5x+6 =08 @ ———F AT gdE?

P —Tx+6
Options:
1)
1

6
2
1
3

3)

o | =

4)

G| =

Correct Answer:

=

o | =

Candidate Answer: [ NOT ANSWERED ]

Question 58.If a+b=>5 and a-b=3, then the value of (a+b?) is

TfE a+b=>5 31K a-b=3 & T (a2+b?) &1 A I8y ?

Options:
1) 17

2) 18
3)19

4) 20
Correct Answer: 17
Candidate Answer: 17

Question 59.A 8 cm long perpendicular is drawn from the centre of a circle to a 12 cm long chord. The diameter of the circle is

et g & P F 12 A7, @R STaT db T 8 AT, T @R el ST €1 g9 BT AN AT e ?
Options:

1) 10 cm

10 3.4

2) 12cm

12 A

3) 16cm

16 3.9

4) 20cm

20 .4,

Correct Answer: 20cm
20 3.9

Candidate Answer: 10 cm
10 3.7,



Question 60.The point equidistant from the sides of a triangle is called

ST T yeTsil & FAgRR fag o e 8 ?
Options:

1) Circumcenter

IRP=

2) Incentre

faFw

3) Orthocentre

[GLSpE

4) Centroid

Cexcy

Correct Answer: Incentre
3dps
Candidate Answer: Centroid

Gt

Question 61.The value of cosec?60° + sec?60° - cot260° + tan230° will be

cosec260° + sec260° -cot260° + tan230° T AT &l BT ?

Options:
1)5

2)
gl
2
3)
5 1
3
4)
52
3
Correct Answer:
, 1
3
Candidate Answer:
5 1
3
Question 62.A man buys a table and a chair for Rs. 500. He sells the table at a loss of 10% and the chair at a gain of 10%. He still gains Rs.10 on the whole. The

cost price of chair in rupees is

IS AferT b AT 3R b BT Rs. 5007 EiedT 21 a8 ot 10% Bl 811 W 3R FF 10% &b o R &= T 21 {52 +t 38 Pt fielt % Rs.100 T 1 81aT 81 FT BT 60 I
FYAT H ga18y ?

Options:

1) Rs.200

2) Rs.250
3) Rs.300

4) RS.350
Correct Answer: Rs.300
Candidate Answer: [ NOT ANSWERED ]

Question 63.The least number that must be added to 8961 to make it exactly divisible by 84 is

8961 # P HI wgaH Fw@HT SIS o a8 84 | yuia: favrswr g1 =g ?

Options:
1) 27

2) 57
3) 141

4) 107
Correct Answer: 27
Candidate Answer: 57



Question 64.The average age of a class of 39 students is 15 years. If the age of the teacher is included, then the average increases by 3 months. Find the age of the
teacher.

39 BT P T Pafl # 3ia 3 15 a9 81 IfE sreamdes Ht 3mg W St & S at 379a 317y 3 A1E 96 STdl 81 3TATI Bl 3 AT Hiferg ?

Options:
1) 30

2) 25
3)35

4) 40
Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]

Question 65.

1 1 o
Ifx=a +~ andy = a — - , then the value of x* + y* — 2x%y? is
a a

1
u’%xz a—+ —3-ﬂTy = ::,+E Bral x**-2x32 R FId AT F7?
a a

Options:
1)4

2)8
3) 16

4) 64
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 66.
in AABC and A DEF,if £A=50°,£B=70°, £C=60", £D=60"
,LE=70°and £F=50", then

AABC 3T ADEF # 478 £A=50° £B=70°, £C=60°, £D=60°, E=70° H{ £F=50°, & @l

Options:
1)
AABC ~AFED

2)
AABC~ADFE

3)
AABC ~ AEDF

4)
AABC ~ ADEF

Correct Answer:
AABC ~AFED

Candidate Answer:
AABC ~AFED

Question 67.
Ina AABC ,if4£A=3 ZB=12./C, find ZA

AABC# I 42A=3 £B=12 £C, & AT LAHTET H?

Options:
1) 22.5°

2) 90°
3) 67.5°

4) 112.5°
Correct Answer: 67.5°
Candidate Answer: [ NOT ANSWERED ]



Question 68.
If SinB + Cosech = 2, the value of Sin"8+Cosec” B is

3ATE sind + cosec 8 = 281, Al sin™@ + cosec™ @ T HIT T GIEAN?
Options:

1)

2|'

2)
1
n

3)2

4)0
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 69.If 2Xt% - 2X*2 = 3, then the value of 'x' is

Tl 24 - 2x+2 = 3 ), a1 'x' &1 7 IATd DIy ?
Options:

1)0

2)2

3)-1

4)-2
Correct Answer: -2
Candidate Answer: -2

Question 70.Two persons are on either side of a temple, 75 m high, observe the angle of elevation of the top of the temple to be 30° and 60° respectively. The
distance between the persons is

A Afa, T 75 Hex FHa Al & fTodd BRI W, Te Wit Yo & @e € 31k iR & ofif &1 3197 Bior 3@d & S g By 300 3R g B 600 wella gt 21 At cafamal & dig
fpat gt & ?

Options:

1) 173.2m

173.2 Hiex

2) 100m

100 Hi

3) 157.7m
157.7 fi

4) 273.2m
273.2 MR

Correct Answer: 173.2m
173.2 ¥l

Candidate Answer: [ NOT ANSWERED ]

Question 71.If the difference between the compound interest and the simple interest on a certain sum at the rate of 5% per annum for 2 years is Rs. 20, then the
sum is

IfE PIE ¥ TR 5% TP X R 2 I8 & g & SIwelt 2 oY 39 R A7 aTed Tshqf; 7ot 3R ATURT &7eT § Rs. 20 T 3R €, a1 g1y g A o & ?

Options:
1) Rs. 2000

2) Rs. 4000
3) Rs. 6000

4) Rs. 8000
Correct Answer: Rs. 8000
Candidate Answer: Rs. 8000



Question 72.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.
BT & TfoTd § Tt 37T (50 H A ) B g2y arer FAmfafEa smad foF &1 sreaga & 3R fafafea wet & 3w &Sl

T

Bl == — e = = === —

a5
Number | a0f— = = — — — = — = =

of
Students|

35
30
25

=== == = = =

15— = = === =

I | ]

o 5 10 15 20 25 30 35 40 4% 350

>
Mathematics

If the pass marks in maths is 31, the number of students who failed in maths is

e Tford # Feftof 3ies 31 81 @Y U A el gY B T HAT AT B ?

Options:

1) 10

2) 15

3)20

4) 25

Correct Answer: 15

Candidate Answer: 15

Question 73.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.

BT & TfoTd § Tt 37t (50 H A ) B g2 arer Frmfafaa smaa fom &1 seaga o) 3R fAefafea uet & 3w dfe)

T

[T SR

a5
Number | 40 |—

of
Students|

35
EL
25

IO == = ——

15— = = ===
7 e e Ry
5

o 5 10 15 20 3% 30 35 40 45 50

N

Mathematics
Total number of students in the class is
BT H BT PI Pl AT Iargy ?
Options:
1) 120
2) 125
3) 130

4) 135
Correct Answer: 135
Candidate Answer: 135



Question 74.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.
BT & TfoTd § YTt 37T (50 H A ) B g2 arer FAmfafea smad foF &1 sneaga & 3R fefafaa wet & 3w dfS)

T

Bl == — e = = === —

a5
Number | a0f— = = — — — = — = =

of
Students|

35
30
25

=== == = = =

15— = = === =

I | ]

o 5 10 15 20 25 30 35 40 4% 350

>
Mathematics

The percentage of number of passed students is (31 is the pass marks)

3ai1of gU BT Pl Hw&aT (fderd H) garsy ? (3ol 89 & foy 31 e sifant 1)

Options:
1)

8
-0
859/0
2)
85801
9 (]
3)
S?SEV
9 a

4)
88 E %
9
Correct Answer:
88 g %
Candidate Answer:

8880/
g/

Question 75.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.
BHEI & 0 § YT 37T (50 H ¥ ) BT oI aTet FAmfeifed 3Tad o &7 3neadq &1 3R fAAfafad ueAi & 3w aferg)

A
B - = - - —— Jo—

45
Number | a0f— = = — — — = — = =

of
Students|

35
30
23

F R
15— = == - ==
T I N | -]
5

¢ 5 10 15 20 25 30 35 40 4% 30

>
Mathematics

If the students have got the marks out of 50 and if A+ grade has been declared for above 90%, then the number of students who have got A+ grade is

& BT BT 50 H I 37 T MY 81 3R 90% I 31feies 37 UTed B Tt BTl bF A+ a1 SITg a1 fha B @1 A+ & mar ?
Options:

1) 10

2) 20

3)30

4) 40

Correct Answer: 10

Candidate Answer: 10



Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

INVIGORATING

Options:

1) VIBRATING

2) REFRESHING

3) EXAGGERATED

4) ACCELERATING

Correct Answer: REFRESHING

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button
corresponding to it.

EVADE

Options:

1) INVADE

2) ESCAPE

3) SHUN

4) CONFRONT

Correct Answer: CONFRONT
Candidate Answer: CONFRONT

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Phenamenon

2) Phenomenon

3) Phenominon

4) Phenomenan

Correct Answer: Phenomenon

Candidate Answer: Phenomenon

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He is jealous for (A)/my success (B)/and wants to destroy me.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The main purpose of the visit (A)/is to develop a close relationship (B)/ among the two countries.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I left (A)/no stone unturned(B)/to achieve for my object.(C)/No Error(D)
Options:

1A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I cannot conceive of accepting the post.
Options:

1) he

2) his

3) him

4) he'll

Correct Answer: his



Candidate Answer: him

Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The maestro's son has no taste music.
Options:

1) about

2) with

3)in

4) to

Correct Answer: in

Candidate Answer: about

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Rita promised to come but she never turned
Options:

1)in

2) out

3) down

4) up

Correct Answer: up

Candidate Answer: up

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Weal and woe

Options:

1) Friends and enemies

2) Be in danger

3) Adversity

4) Good times and bad times

Correct Answer: Good times and bad times
Candidate Answer: Good times and bad times

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Call in question
Options:

1) Summon as a witness
2) Doubtful

3) Prove a theory

4) Challenge

Correct Answer: Challenge
Candidate Answer: Doubtful

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Make both ends meet
Options:

1) Live within means
2) Achieve a solution
3) Live among people
4) End of the road

Correct Answer: Live within means
Candidate Answer: Live within means

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A drug which makes one see things that are not really there.
Options:

1) Aphrodisiac

2) Steroid

3) Carcinogen

4) Hallucinogen

Correct Answer: Hallucinogen
Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Providing relief



Options:

1) Reissue

2) Reprieve

3) Rejoinder

4) Refuge

Correct Answer: Reprieve
Candidate Answer: Reprieve

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The philosophy of putting another's welfare above one's own.
Options:

1) Agnosticism

2) Polytheism

3) Altruism

4) Iconoclasm

Correct Answer: Altruism

Candidate Answer: Altruism

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

This book is adopted to the needs of beginners.
Options:

1) adapted to

2) adapted for

3) adopted for

4) No improvement

Correct Answer: adapted to

Candidate Answer: adapted for

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

There are a good many tigers in this forest.
Options:

1) some good many tigers

2) the good many tigers

3) an good many tigers

4) No improvement

Correct Answer: No improvement

Candidate Answer: some good many tigers

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

London is one of the oldest towns of England.
Options:

1)in

2) at

3) besides

4) No improvement

Correct Answer: in

Candidate Answer: in

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

You will be late if you do not leave now.
Options:

1) will not leave now

2) did not leave now

3) left now

4) No improvement

Correct Answer: No improvement
Candidate Answer: No improvement

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

People ask me why I decide to start a new magazine.
Options:

1) will decide

2) am deciding

3) have decided

4) No improvement

Correct Answer: have decided
Candidate Answer: have decided




Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-
door neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is
acquainted with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a
pompous lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the
optics and the rules of perspective.

Learning is defined as

Options:

1) the knowledge of that which is before us

2) the knowledge about us

3) the knowledge of that which is not generally known to others
4) the knowledge related to the businesses of men

Correct Answer: the knowledge of that which is not generally known to others
Candidate Answer: the knowledge of that which is not generally known to others

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of hames, and dates, not of men or things. He thinks and cares nothing about his next-
door neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is
acquainted with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a
pompous lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the
optics and the rules of perspective.

The most learned man is he who

Options:

1) knows about all the principal characters in history

2) sees not with the eyes of others

3) is acquainted with the streets of Constantinople and Peking

4) knows the most of what is farthest removed from common life and actual observation.

Correct Answer: knows the most of what is farthest removed from common life and actual observation.
Candidate Answer: knows the most of what is farthest removed from common life and actual observation.

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-
door neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is
acquainted with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a
pompous lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the
optics and the rules of perspective.

A learned man, as described in the passage,
Options:

1) cares about men and things

2) does not care about men and things

3) cares about the shapes of objects.

4) cares about his neighbours

Correct Answer: does not care about men and things
Candidate Answer: does not care about men and things

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-
door neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is
acquainted with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a
pompous lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the
optics and the rules of perspective.

The passage suggests that a learned man

Options:

1) understands his neighbours

2) does not know his old acquaintances

3) is not concerned about names and dates

4) is interested in travelling

Correct Answer: does not know his old acquaintances
Candidate Answer: does not know his old acquaintances



Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of hames, and dates, not of men or things. He thinks and cares nothing about his next-
door neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is
acquainted with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a
pompous lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the
optics and the rules of perspective.

The given passage implies that

Options:

1) knowledge of the learned is exclusive to them

2) a learned man cannot deliver lectures

3) a learned man is not interested in Calmuc Tartars

4) a learned man is not aware of the optics and the rules of perspective
Correct Answer: knowledge of the learned is exclusive to them

Candidate Answer: knowledge of the learned is exclusive to them





